
Scale CI model c1 Fit unc. Model and param. unc.
Left-handed −0.017 ±0.005 ±0.003

Λ = 5 TeV Vector-like −0.009 ±0.003 ±0.002
Axial-vector-like −0.009 ±0.003 ±0.002

Left-handed −0.07 ±0.02 ±0.01
Λ = 10 TeV Vector-like −0.04 ±0.01 ±0.01

Axial-vector-like −0.04 ±0.01 ±0.009
Left-handed −0.12 ±0.03 ±0.02

Λ = 13 TeV Vector-like −0.06 ±0.02 ±0.01
Axial-vector-like −0.06 ±0.02 ±0.01

Left-handed −0.28 ±0.08 ±0.06
Λ = 20 TeV Vector-like −0.15 ±0.04 ±0.04

Axial-vector-like −0.15 ±0.04 ±0.03
Left-handed −1.8 ±0.5 ±0.4

Λ = 50 TeV Vector-like −1.0 ±0.3 ±0.2
Axial-vector-like −1.0 ±0.3 ±0.3


